RT T 74 F—RITHEBRAEE

kg
kg
1) YES NO
2) YES NO
3) [S.P] 10km/h YES NO
) km/h
km/h
ON km/h
5 YES NO
km/h
YES NO
5) [S.P1 | [S] 45°
YES NO
[F] 90°
90° YES NO
6) @
[S] 45° 4
90° YES NO
[P.T] 90°
90° YES NO
[c] 4
90° YES NO
@) [S.P]
[S] 45° 4
YES NO
[F] 4
90° YES NO
(€))
[S] 45° 4
YES NO
[P.C.T] 4
90° YES NO
7 5] 18 YES NO
[F] 20 YES NO
[T.C] 23 YES NO
8) [S.P,T] YES NO
€] YES NO




9) [S.T] YES NO
[P]90° YES NO
[C]90° YES NO
10) [S]4 180°
YES NO
[P,T]360° 1
90° 4 YES NO
[C1360° 1
360° 4 YES NO
11) [S]360° YES NO
[P1360° 1
90° 4 YES NO
[C]360° 1
360° 4 YES NO
[T]720° YES NO
12) [S] 90°
YES NO
[S,P,T] [P,T]180°
90°
YES NO
13) [S] 45° 4
[S,P] YES NO
P14
4
45°
90°
YES NO
14) [S]1360° YES NO
[P]360° YES NO
[C1360°
360°
YES NO
[T]720° YES NO
m/s hpa




